Quiz 2

Q1. Strict Alternation; describe in detail.

while (TRUE) { while (TRUE) {
while {turn != Q) /= loop */ ; while (turn != 1) /% loop * |
gritical _ragion( ); critical _region( };
turn = 1; turn = Q;
honcritical _regiond ); ! noncnticat_regiony };
h
(a) (b}

Q2. Petersons's solution; describe in detail.

#deling FAI SF O
frotine THUE 1

#oafine M 2 A numbaer of proceecos +f

it tum; M whose tum iz it? +/

int intarestadN): ~+ all valuas initialtly 0 (FALSE)

void enter _region(int procees): * process is Qar 1 +f

{
Inl other,; ~ number of the other process »/
other - 1 - process, ™ e DPPOSITe 01 process */
IMerestediprocess] = TAUE;,  » show that you are interested »/
furm = process; M el tlag +f

i while (lun == process && imerestadiother] — TRUE) /+ null statement »/ -

vaid leave _reg on(int process) M process: who is leaving */

{
}

interestediprocess] = FALSE;  /~indicate depaniure fram critizal tegion J



